+ r ## = =

(—xH )
FEAI AEELY
V=" 19.10 = 19. 10
Y = 19.10 | m?
PR FHEELY
Vi= 36.55 = 36. 55
BHE
V2= 1.20 X  5.00 = 6. 00
> = 42.55 | m?
HEL FHEELY
Vi=  24.10 = 24.10
BE
V2= 0.90 X  5.00 = 4. 50
> = 28. 60 28.
PREIR IERA 5T Eell = 19. 10
AR = 42. 55
= 61. 65 61.
AR EF HEL vV = 28. 60
= 28. 60 28.
by Ui ( #EH + ( B+ + #HE ) /0.9
61.65 — = 29. 87 29.
BfHE  (450)
i #il -
73 i 1.20
HBERL (AL 0.90
R L (RC-40) -
CoHni® L 0.05
AsHUE L -




+ T % 5y S H E
) i B S i B = L (% At )
WA A Wk M W w | B £ R | Bmm| F W | £ R | B@A| ¥ | E R
(m® (m® (m”) (m® (m® (m”) (m® (m® (m”)
NO. 0 NO.O +  0.00 0. 00 0. 50 0. 60 0. 40
NO. 1 NO.1 +  0.00 20. 00 0. 50 0. 50 10. 00 0. 60 0. 60 12. 00 0. 40 0. 40 8. 00
NO. 1+15.0 INO.1 + 15.00 15. 00 0. 50 0.50 7.50 1. 50 1.05 15. 75 1. 00 0. 70 10. 50
AT 0. 00 0.20 0.35 1.10 1.30 0. 70 0. 85
NO. 2 NO.2 +  0.00 5. 00 0. 20 0.20 1. 00 1. 10 1. 10 5. 50 0.70 0. 70 3. 50
NO.2+3.0  INO.2 +  3.00 3. 00 0. 20 0.20 0. 60 1. 10 1.10 3. 30 0.70 0.70 2.10
&t 43. 00 19. 10 36. 55 24. 10




Xk B ED L EHREZE

(—xH )
AR T
UZRU AR SEEX LD
(3FH400A) L= 17.50 7.50 | m 7.
UZRUARI T AT
(3F%500A) L= 23.50 23.50 | m 23
FEWT % SEHEX LD
(G300A) L= 8.00 8.00 | m 8.
REWTHE SEEX LY
(G400A) L= 6.00 6.00 | m 6.
a7 Y—FRZEIN= 7.50 +  0.50 15.00 | # 15.
(400/8)
o7 Y— R N= 2350 +  0.50 3. 00 44,00 | ¥ 44,
(500/)
Tl —F 7% N=  23.50 < 10.00 3.00 | #& 3.
(500H)
BIET
B SEEX LD
(450) L= 5.00 5.00 | m 5.
AE KT
AEKAEA SEHEX LD
(600X 600X 750) N=  1.00 1.00 | 3 1.
£E KB SEEX LD
(600X 600X 750) N=  1.00 1.00 | % 1.




U & ] # (3 FE 400A) (10m% 1)
| 630 ‘
| 400 |
= E UZU4AI;E (35E 400A L=2000)
"
218 10 L
N V HELSIL(:3)
SV | /
s | Bk BEH (RC-40)
\ 430 \
| 630 |
4 PR At T AL
URUARI T N= 10.000 =+ 2.000 = 5.000 | A 5. 00
(3FE400A) ( L=2000, &7 E &=516kg/{# )
SHERRED YA 7 VR
E/NLZL | V= 0.430 X 0.030 X 10.000 = 0.129 | m*® 0.13
(1:3)
Py A= 0.630 X 10.000 = 6.300 | m® 6. 30
(RC-40, t=10cm)
FHHEIE A= 0.630 X 10.000 = 6.300 | m® 6. 30
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=18 80 | 460 | T
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< 8 | /
= B, S S (RC-40)
‘ 540 ‘
‘ 740 ‘
4 PR At A AL
UL N= 10.000 = 2.000 = 5.000 | A& 5.00
(3FE500A) ( L=2000, 235 8 &-699%kg/{# )
SHERRED YA 7 VR
L& | V= 0.540 X 0.030 X 10.000 = 0.162 | m® 0.16
(1:3)
Pyl A= 0.740 X 10.000 = 7.400 | m? 7.40
(RC-40, t=10cm)
FLEREIE A= 0.740 X 10.000 = 7.400 | m? 7. 40
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() BEILZIL(1:3)
S M | 7 HEmao sy )—p
= % (18-8-25BB)
FEHE# (RC-40)
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| 580 |
| 680 |
4 PR g B <P AVARE ¢ 5=
FEWT AT N=  10.000 -+ 1.000 = 10.000 | f& 10. 00
(G300A) ( L=1000, 2% B £=355kg/{# )
SHERRED YA 7 VR
L& | V= 0.480 X 0.020 X 10.000 = 0.096 | m® 0. 10
(1:3)
Higm 2 U—R| V= 0.580 X 0.100 X  10.000 = 0.580 | m® 0.58
(18-8-25BB)
[F] AR A= 0.100 X 10.000 X  2.000 = 2.000 | m?® 2. 00
By A= 0.680 X 10.000 = 6.800 | m? 6. 80
(RC-40, t=15cm)
JLmEEEIE A= 0.680 X 10.000 = 6.800 | m® 6. 80
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a7 U— b
(18-8-25BB)

[ bR

FLAREF
(RC-40, t=15cm)

H i B

10.000 =
( L=1000, 75 B 5:=479%g/{# )

0.590

0.690

0.100

0.790

0.790

1. 000

0.020 X 10.000

0.100 X

10. 000

10.000 X 2.000

10. 000

10. 000

10. 000

0.118

0.690

2.000

7.900

7.900

0. 69

2.00

7.90

7.90
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BMEJILZIL(A:3)
88 /éﬁ*m*:wb')—h
= | (18-8-25BB)
360 100
560
4 R B BN
B : = 4.000 | {# 4. 00
(450) ( ZEHEE=892kg/fH )
e LA L X 10.000 = 0.108 | m® 0.11
(1:3)
a7 U— b X 10. 000 = 0.560 | m® 0. 56
(18-8-25BB)
[F] bR X 2.000 = 2.000 | m® 2. 00
FHEIE = 5.600 | m? 5. 60
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(10424 0)

900

65

600 65

oKkt
(600 x 600 x 750)

900

5 65 600

65 8!

s 55

600

a51ss)

900

675

150

900

o
o

1000

EHEM (RC-40)

4 R = T AL j=:n
=7 Y —F | V1= 0.900 X 0.900 X 0.900 X 10.000 = 7.290
(18-8-25BB) Rk
V2= 0.600 X 0.600 X 0.675 X 10.000 = -2.430
V3= 0.730 X 0.730 X 0.075 X 10.000 -0. 400
V4= 0.500 X 0.500 X 0.150 X 10.000 -0. 375
V5= 0.300 X 0.300 X 0.150 X 10.000 -0.135
V6= /4 X 0.450 "2 X 0.150 X 10.000 -0. 239
> = 3.711 | m® 3.71
A b 7R Al= 0.900 X 0.900 X 4.000 X 10.000 = 32.400
A2= 0.600 X 0.675 X 4.000 X 10.000 = 16.200
A3= 0.150 X 0.500 X 3.000 X 10.000 = 2. 250
Ad= 0.150 X 0.300 X 3.000 X 10.000 = 1. 350
A5= =« X 0.450 X 0.150 X 10.000 = 2.121
548
A6= 0.500 X 0.500 X 2.000 X 10.000 = -5.000
A7= 0.300 X 0.300 X 2.000 X 10.000 = -1.800
A8= x/4 X 0.450 "2 X 2.000 X 10.000 = -3.181
S = 44.340 | m® 44, 34
T —F 7% N= = 10.000 | # 10. 00
(600 X 600H) (T-25, i@ H, 70 (LA, AL hEER)
HMERE A= 1.000 X 1.000 X 10.000 = 10.000 | m? 10. 00
(RC-40, t=15cm)
F R A= 1.000 X 1.000 X 10.000 = 10.000 | m? 10. 00




( X 600 X 750 (10259)
1
kit
(600 x 600 x 750)
900 900
FL—FLiE
600 x 600FH, T-25
8 600 5 65 600 2EH FRYILESDH
AL FEER
g | 2
EREH (RC-40)
1000
4 PR B <P AVARE ¢ 5
27U —k | Vi= 0.900 0. 900 0.900 X  10.000 7. 290
(18-8-25BB) 54N
0.600 X 0.600 X 0.675 X 10.000 = -2.430
0.730 X 0.730 X 0.075 X 10.000 -0. 400
0.400 X 0.400 X 0.150 X 10.000 -0. 240
x/4 X 0.450 "2 X 0.150 X 10.000 -0. 239
= 3.981 | m® 3.98
[a] AR 0.900 X 0.900 X 4.000 X 10.000 32. 400
0.600 X 0.675 X 4.000 X 10.000 16. 200
0.150 X 0.500 X 3.000 X 10.000 2.250
0.150 X 0.300 X 3.000 X 10.000 1. 350
7 X 0.450 X 0.150 X 10.000 2.121
FRak
0.400 X 0.400 X 2.000 X 10.000 -3. 200
/4 X 0.450 "2 X 2.000 X 10.000 -3.181
47.940 | m?® 47.94
TV —F % 10. 000 | # 10. 00
(600X 600) (T-25, E3@H, 720 (LA, AL FEER)
FARERS 1.000 X 1.000 X 10.000 10. 000 | m? 10. 00
(RC-40, t=15cm)
JLmmEE I 1.000 X 1.000 X 10.000 10. 000 | m? 10. 00




a4 ¥ T 2 OB O # (3% 1)

T AT 7V MahET

*=fE R AEELD
(t=4cm) A= 164.50 = 164. 50
(3. Om<W)
>y = 164.50 | m? 164. 5
= E R AEELD
(t=4cm) Al= 12.00 = 12. 00
(W<1. 4m) No. 1+1045 R EUfTE
A2= 8.00 = 8. 00
H18. 0XW1.0
> = 20.00 | m?® 20.0
jiZhr SREET LD
(M-30, t=10cm) | A= 164.50 +  20.00 = 184. 50

X = 184.50 | m’ 184.5




i g iéi] & 7 H =
. ® HB ( 3.0mW ) ® B ( Wlidm )
WA 4 ) # (Emhéﬁ 5] ) [T e A [T 5 ¥ [TETI
(m) (m) (m?) (m) (m) (m?) (m) (m) (m?)
NO. 0 NO.O +  0.00 0. 00 4.70
NO. 1 NO.1 +  0.00 20. 00 4.70 4.70 94. 00
NO. 1+15.0 |[NO.1 + 15.00 15. 00 4.70 4.170 70. 50
Eii 0. 00 1. 50 0.75
NO. 2 NO.2 +  0.00 5. 00 1.50 1.50 7.50
NO. 2+3. 0 NO.2 +  3.00 3. 00 1.50 1.50 4. 50
&t 43. 00 164. 50 12. 00




85 # M T #H B F

(—xH )
AR S FEME T
H— KL —/u AR,
(Gr—-C—4E) L= 2.50 2. 50
> 2.50 | m 2.5




ERMAEBEER LHHEEF

(—H0)

MET

Mg a7 J—Fh

L=

23.50
S RIURLRT#SO0A © 23. 5m

23.50

23.5




W& » =2 v 27 U — k (10m2%4 ¥ )

4 PR At H BAT|
a7 U—k | V= 0.200 X 0.100 X 10.000 = 0.200 | m® 0. 20
(18-8-25BB) SOEEIW=20cm

H ikt A= 0.200 X 0.100 X 1.000 = 0.020 | m® 0.02

(z7244}, t =10mm)




MEEMELHRESEFI

(—xH )
TS B L T
a7 U—} FHEELD
FEEYEEE L | Vl=  3.42 = 3.42
(THE777) ) ‘
BfE (BERAENRT IR
V2= 0.05 X  5.00 = 0. 25
> = 3.67 | m® 3.7
T AT 7Lk HEELY
SEERREUE L | A= 192.35 = 192. 35
(t=10cmLL T) No. 1+1041HHLf1E
A2=  8.00 = 8. 00
LS. OXWIL. 0
> = 200.35 | m?® 200. 4
WSk | L= 23.50 = 23.50 | m 23.5
EPTAERN A RIURRTEESO0A : 23. 5m
(t=15cmlL T)
SERROIkT L= 7.40 +  4.50 4+ 500 + 59.00
(72771 1) + 10.00 = 85.90 | m 85. 9
(t=15cmLL F) $<No. Of#I¥r : 7. 4m, No. 1+15KEWT : 4. 5m, No. 1+10HUff3E : 5. Om
R ER : 7.5m+ 23.5m « 8. 0X 2m * 6. 0 X 2m
BAERRERE 0 5. 0mX 2
TR ALEE T
TR S EE L LY
= s V—1) | V= 3.67 = 3. 67
> = 3.67 | m® 3.7
R EEYEUE L LV
(72774 R) | V= 200.35 X  0.04 = 8.01
SO E 4em
> = 8.01 | m® 8.0
ALy IR LD
= s V—1) | V= 3,67 = 3. 67
> = 3.67 | m® 3.7




BEYHBHETLHEE:? (3% 1)

ALy B LD
(7AZ77/v k) | V= 8.01 = 8.01
> = 8.01 | m?
AT W= 36. 50 X 6. 00 = 219. 00
(8RB, ~E—H3) X7 L—F T # 36, 5kg/ K
> = 219.00 | kg
= 0.22 t
B3 A ShE
N= 0.22 - 2.00 = 0.110 = 1. 00 [3]
(2tFEH)
BfHE (450)
® A f
73 i 1.20
#RLGRAD)| 0.9
R L (RC-40) -
CoHyi® L 0.05
AsHUE L -




I et L 3;51 =% G B =
. 7 A 7 7 v b H | B OF o= v 7 U — b
WA 4 ) p EE%E? 5 ) LTI = G T T 5= S R O ) B o[ Wm | B = FH
(m) (m) (m® (m® (m® (m”) (m® (m® (m”)
NO. 0 NO.O +  0.00 0. 00 5. 00 0. 06
NO. 1 NO.1 +  0.00 20. 00 5. 00 5. 00 100. 00 0. 06 0. 06 1.20
NO. 1415.0 |NO.1 + 15.00 15. 00 5. 50 5.25 78.75 0.14 0.10 1.50
EEQ 0. 00 1.70 3. 60 0. 09 0.12
NO. 2 NO.2 +  0.00 5. 00 1.70 1.70 8. 50 0. 09 0. 09 0.45
NO. 2+3. 0 NO.2 +  3.00 3. 00 1.70 1.70 5. 10 0. 09 0. 09 0.27
&t 43. 00 192. 35 3. 42
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